
Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Mit Zehnerpotenzen multiplizieren (fehlende Zahl)

6, 293 × ________ = 629.3 9, 588 × ________ = 9588

3, 605 × ________ = 36.05 8, 252 × ________ = 82.52

4, 863 × ________ = 48.63 3, 237 × ________ = 32.37

6, 576 × ________ = 657.6 8, 405 × ________ = 840.5

4, 907 × ________ = 490.7 6, 426 × ________ = 6426

4, 717 × ________ = 47.17 6, 231 × ________ = 6231

1, 248 × ________ = 124.8 7, 971 × ________ = 7971

8, 767 × ________ = 8767 9, 742 × ________ = 97.42

4, 648 × ________ = 46.48 7, 502 × ________ = 7502

5, 995 × ________ = 5995 2, 401 × ________ = 2401
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Name: 　　　　　　　 Datum: 　　　　　　 Ergebnis: 　　　

Mit Zehnerpotenzen multiplizieren (fehlende Zahl)

6, 293 × 100 = 629.3 9, 588 × 1000 = 9588

3, 605 × 10 = 36.05 8, 252 × 10 = 82.52

4, 863 × 10 = 48.63 3, 237 × 10 = 32.37

6, 576 × 100 = 657.6 8, 405 × 100 = 840.5

4, 907 × 100 = 490.7 6, 426 × 1000 = 6426

4, 717 × 10 = 47.17 6, 231 × 1000 = 6231

1, 248 × 100 = 124.8 7, 971 × 1000 = 7971

8, 767 × 1000 = 8767 9, 742 × 10 = 97.42

4, 648 × 10 = 46.48 7, 502 × 1000 = 7502

5, 995 × 1000 = 5995 2, 401 × 1000 = 2401
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